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678797 :;<< =>= ?@ ABCDECB ?@ AEFGBHI
A(2, 0, 1) $ B(0, 0, 3) $ C(3, 4, 4) $ D(4, 1, 0) $
vBx = 0 $ vBy = 0 $ vBz = 104 .

678797 :;<< =J = K A@LM ?@ AEFAM
A(4, 0, 4) $ B(0, 0, 4) $ C(3, 5, 2) $ D(2, 4, 0) $
vBx = 0 $ vBy = 30 $ vBz = 20 .

678797 :;<< =< = K CI NEOP ?BQOB
A(4, 0, 4) $ B(0, 0, 4) $ C(0, 3, 3) $ D(1, 2, 0) $
vBx = 0 $ vBy = −3 $ vBz = 0 .

678797 :;<< =R = K OIS OP TOU GB
A(4, 0, 3) $ B(0, 0, 4) $ C(1, 5, 2) $ D(2, 2, 0) $
vBx = 0 $ vBy = −40 $ vBz = −80 .

678797 :;<< =V = WG@ XFQOP Y@GHCU CI
A(4, 0, 1) $ B(0, 0, 3) $ C(1, 3, 1) $ D(2, 1, 0) $
vBx = 0 $ vBy = −10 $ vBz = −20 .

678797 :;<< =Z = [ U CQI CAPG \ GI CBG
A(2, 0, 2) $ B(0, 0, 3) $ C(0, 4, 4) $ D(2, 4, 0) $
vBx = 0 $ vBy = 3 $ vBz = 0 .

678797 :;<< =]= ^@_BCEOPG `I CBG
A(2, 0, 1) $ B(0, 0, 1) $ C(1, 3, 2) $ D(2, 5, 0) $
vBx = 0 $ vBy = −9 $ vBz = −6 .

678797 :;<< =a = b C@_HCPGQOPG c O@CBG
A(1, 0, 3) $ B(0, 0, 4) $ C(2, 5, 4) $ D(3, 5, 0) $
vBx = 0 $ vBy = 5 $ vBz = 10 .

678797 :;<< =d = b C@_DGBOP eAI fAM
A(3, 0, 2) $ B(0, 0, 2) $ C(3, 5, 1) $ D(4, 1, 0) $
vBx = 0 $ vBy = −51 $ vBz = 0 .

678797 :;<< =>g = b OBBOP eAI fAM
A(3, 0, 2) $ B(0, 0, 3) $ C(3, 2, 3) $ D(2, 1, 0) $
vBx = −1 $ vBy = −3 $ vBz = 0 .

678797 :;<< =>>= bIGFBABEO [ GI _h
A(3, 0, 4) $ B(0, 0, 3) $ C(0, 2, 2) $ D(2, 1, 0) $
vBx = −12 $ vBy = 0 $ vBz = −24 .

678797 :;<< =>J = bI XiCBCB ?BHI AM
A(4, 0, 2) $ B(0, 0, 1) $ C(0, 3, 1) $ D(3, 2, 0) $
vBx = 3 $ vBy = 0 $ vBz = 0 .

678797 :;<< =>< = \ CI fGFOP ?@ AEFAM
A(4, 0, 1) $ B(0, 0, 4) $ C(0, 2, 1) $ D(2, 4, 0) $
vBx = 0 $ vBy = 2 $ vBz = 0 .

678797 :;<< =>R = \ CI OBOPG [ GI _h
A(3, 0, 3) $ B(0, 0, 2) $ C(1, 4, 3) $ D(2, 2, 0) $
vBx = 0 $ vBy = 0 $ vBz = −6 .

678797 :;<< =>V = j GkCAP ?IQXI
A(1, 0, 4) $ B(0, 0, 4) $ C(3, 5, 1) $ D(4, 4, 0) $
vBx = 0 $ vBy = 0 $ vBz = −40 .

678797 :;<< =>Z = j GlGI ABEO ?BGFQGFCh
A(2, 0, 4) $ B(0, 0, 3) $ C(1, 2, 1) $ D(2, 1, 0) $
vBx = −2 $ vBy = −6 $ vBz = −4 .



678797 :;<< =>] = j C Y@GHCF@GP
A(3, 0, 3) $ B(0, 0, 2) $ C(3, 4, 4) $ D(4, 4, 0) $
vBx = 0 $ vBy = 3 $ vBz = 0 .

678797 :;<< =>a = eAI fAAP \ CmGC@
A(2, 0, 3) $ B(0, 0, 4) $ C(1, 4, 4) $ D(2, 4, 0) $
vBx = 0 $ vBy = −12 $ vBz = −8 .

678797 :;<< =>d = eE@hI ABEO j CECQG
A(1, 0, 2) $ B(0, 0, 1) $ C(1, 2, 1) $ D(3, 4, 0) $
vBx = 0 $ vBy = 3 $ vBz = 0 .

678797 :;<< =Jg = nC@GQOP ` PGB
A(4, 0, 3) $ B(0, 0, 1) $ C(0, 2, 1) $ D(1, 2, 0) $
vBx = 2 $ vBy = 0 $ vBz = 0 .

678797 :;<< =J>= o AiOPG@ ABEO ?BfA@CBG
A(2, 0, 2) $ B(0, 0, 2) $ C(2, 2, 4) $ D(3, 5, 0) $
vBx = 0 $ vBy = 0 $ vBz = 4 .

pqrr
stuvtw x
y z{|{}uvzzw~ �v��z�}� u ��{�t��z�tuv ��,� ��, ��
�

ωx ωy ωz� �� �� � �����'%�� ���%���)�
� � � � � ���#! ���%��!
� � � � ���4%�* �����
� �� ��� �� ���-�* �����
� � �� � �������* ���)����
� � � � /������*� � �����
� � �� ��� �� ��%�*� �����
� � �� �  �� )�*���*� ¡�����
� � � ��  �� '���* 2����!
�� � � �  ����* 2����!
�� �� �� ��  ������%� / �� +
�� � � �  ��"���� ��)��!
�� � � � �������* ���%��!
�� � �� � ������*� / �� +
�� � �� ��� �� 3�¢��* �����
�� � �� � 3������%� ��������+
�� � � � 3� ���)����*
�� � �� � 2�����* ������
�� � � � 2%�+���%� 3�%���
�� � � � £�����* �*��
�� � � � � ¤ �"�*����%� ��������

¥ ¦§§ ¨©ª« ��¬��­®¯­


